Zlopas 2 vhehd w), 227} b 2 S ol 29

® 0.3 @ 1.25 ® 1.05

Y7o

® 3.104

~&B

3
T
1
1_
@ 4

1
1—
® 20

1

29—
® 200

13
® S




el

1 4171

00
—

o] Z+Z} 50°, 100

o

oju
ld

]

—_—

°]7} 6cm?Q

@)

® ®¥Ez]E°] 6cm

o




—

O A ¥He] Zo)7 7em, 10cm, 2cm Q

1 4171

00
—

@ Al z+e] Z717F60°, 30°, 90

~
o=
= m
—
0" ol
s N
N o
~ o]
=
m 3
R
Nof
i 5
50 g
I ~
H g
0 0
g ~
[}
© ~
Jr. .
N N
o o
¥ N
o] o o)
g ﬂ_l !
o <1 Lk

@ @

mmo
~

~H

0

0
=

°]7} 10em o1, 1 %F B7+e] 3717} 150°, 30°¢1

B
Mo 3
o
E,&
ﬂHAT
o
T
oo
IR
,,mmeq
<H o1
e
_,AEOOO
W__L%H
s e
7_.5__0
ol
N o) N
|m
o ~ M
B omoor
N
ﬂ.oﬂ_uﬂE
N T o0

0]
@)
®




“|,3 5Cm\/\ =l
Y
R ' e
N 1 ’
R ' e
~ I .
SOt
N : .
NG
/’\o
1N
PAOEEEERN
’ ' ~
’ 1 N
Pt ! .
’ 1 N
. | ~
I pZs -
B cm

| 2
[> ®ehl 28cm

~&B

A re2 A oS AEC R S5k
ARAEFE HA, A4 Az OAFO= oh=
AA == Huz AP Y

HB xS gAE02 sl A e go|nz
(A& T A)= (A& ~2)=3.5cm

222 A2 q s el g He) ol
3.5x2="7(cm) ¥t}

mebA], JARZEY L e el EYe

7x4 = 28(cm) YYr}.




5.

ATt 2 &MU 7195 2A L.

@ 15x06x%x3 O 58x0.6x5
© 0.7x0.05%x4 ® 4.3x08x3
@ 0.33x72x%x6 ® 58%x2.7x%x3

it

i

o o0d oX 0%
(LI (LAY TN 1}

0
i

v Vv VvV Vv Vv VvvyvVvvVvvVvyVvyy
X
i

® @ ® O O ©

B

@ 15%0.6x3=09x3=27
©58%0.6x5=348%x5=174

© 0.7x0.05%x 4 =0.035 x4 = 0.14

@ 4.3x0.8% 3 = 3.44 x 3 = 10.32

@ 0.33 X 7.2 X 6 = 2.376 x 6 = 14.256

@ 5.8%2.7x 3 = 15.66 x 3 = 46.98
kA ALt A 2 YR 7|58 21
®, 0, 0,6, 0 694t




